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Y=240 (dx=9.8e-03, do=-1.9e-02)

f=579, X=501.8

Y=481 (dx=3.7e-03, do=-2.2e-02)

T pfsArm
1 = (x=488.47, 0=1.10)

1 calExp
= (x=488.48, 0=1.08)

w— Residual*5
== Trace

T pfsArm
| ™ (x=491.66, 0=1.10)

1 calExp
= (x=491.66, 0=1.08)

e Residual*s
= Trace
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f=620, X=246.9

Y=240 (dx=-1.1e-01, do=4.8e-01) Y=481 (dx=-3.2e-01, do=5.7e-01) Y=722 (dx=-2.5e-01, do=3.5e-01) Y=963 (dx=3.9e-01, do=-1.3e+00)

L pfsArm -1 pfsArm L T pfsArm - T
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Y=240 (dx=-4.0e-01, do=5.2e-01)

f=621, X=240.8

Y=481 (dx=6.6e-02, do=6.3e-01)
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= (x=226.34, 0=1.19)

calExp
- = (x=225.94, 0=1.71)
e Residual*5

= Trace
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w1 Trace
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1 = (x=238.39, 0=126)

calExp
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e Residual*5

= Trace
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— == Trace
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= Trace
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w1 Trace
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e Residual*5
= Trace
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e Residual*5
- Trace
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f=622, X=234.5

Y=240 (dx=5.5e-02, do=7.2e-01) Y=481 (dx=-7.3e-01, do=4.2e-01) Y=722 (dx=4.2e-02, do=2.0e-01) Y=963 (dx=-2.6e-01, do=3.8e-01)
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1 = (x=23222,0=122) = (x=234.30, 0=124) 1 == (x=237.51,0=131)
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= (x=232.10, 0=1.28) — (=234.13, 0=181) -L | = (x=236.76, 0=1.81)
m— Residual*s — == Residual*5 T pfsArm m— Residual*s
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f=623, X=228.3

Y=240 (dx=-5.2e-01, do=5.7e-01) Y=481 (dx=-5.0e-01, do=6.1e-01) Y=722 (dx=-1.4e-01, do=1.1e-01) Y=963 (dx=-4.6e-01, do=5.2e-01)
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1 —(x=220.59, 0=1.41) m—(x=223.49, 0=1.31)

1 calExp
= (x=220.45, 0=1.52)
e Residual*s
= Trace
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— Residual*5
== Trace
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Y=1204 (dx=-4.6e-02, do=1.0e-01) Y=1445 (dx=-4.7e-02, do=6.7e-01) Y=1686 (dx=2.6e+00, do=-2.2e-01) Y=1927 (dx=-5.2e-01, do=8.1e-01)
1 T T T T =\ M
1 = F;i/;r% 04, 0=1.20) lﬂ | | ?;s:Azgné.Sl 0=1.62) J T rF h-l |-r
1 = (C:‘:szzps‘gg, 0=1.30) T | (C:‘:szngAa, 0=1.39) "

m—Residual*5 o PSArM m— Residual*5 kg PFSATI -
- Trace (x=228.11, 0=123) _ - | ide (x=231.31, 0=1.29)
- 1 I (C:Lszzps.os, 0=1.90) ] =] (c:|=E2x3po.79, 0=2.09)
1 — Residual*s — Residual*s
" = Trace == Trace =
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T T T T T T T T T T T
Y=2168 (dx=-3.6e-01, do=2.0e-01) Y=2409 (dx=-8.9e-01, do=5.9e-01) Y=2650 (dx=-3.5e-01, do=6.4e-01) Y=2891 (dx=-2.8e-01, do=3.6e-01)
I pfsArm 9 pfsArm - J pfsArm pfsArm u
1 = (x=232.47,0=133) = (x=233.46, 0=1.29) = (x=234.18, 0=1.25) - = (x=234.45, 0=1.32)
1 calExp calExp calExp calExp
= (x=232.11, 0=1.53) = (x=232.57, 0=1.88) == (x=233.83, 0=1.89) — = = (x=234.17, 0=1.68)
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[ I |
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Y=240 (dx=-5.1e-01, do=6.8e-01)

f=624,

Y=481 (dx=-4.8e-01, do=6.5e-01)
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= Trace
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calExp
= (x=210.81, 0=1.88)
= Residual*5
== Trace
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pfsArm I I pfsArm
| = (x=219.65, 0=1.35) 1 I| = (x=221.68, 0=1.41)
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= (x=226.17, 0=1.57) == (x=227.87, 0=1.83)

s Residual*s
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== Trace
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f=630, X=184.8

== Trace

) el | =

Y=240 (dx=2.6e-02, do=6.0e-01) Y=481 (dx=-4.2e-01, do=3.8e-01) Y=722 (dx=-6.2e-01, do=-6.6e-01) Y=963 (dx=-8.5e-02, do=4.9e-01)
T T T T - |

e FJSA{% 03, 0=127) 1 I. | LI | |-'J lJ |J ] 1 = ?;5:\{?7.81, 0=1.98) 11 ffAlr% 98, 0=1.34) 1 J

o calExp - 1 o calExp o calExp 1

(x= 170 06, 0=1.87) (x=177.19, 0=1.32) (x= 179 90, 0=1.82)

m—— Residualts. E:SAIB o o1 48 _F B 1 m— Residual*5 | === Residual*5

== Trace U - L -1 __ (cal 1o I'J_ = i : w1 Trace == Trace
1 1'I— m— Residual*5 B T 1
I = Trace l l
|-L; JE i O i | N S I ] e -
T T r T
II T T T T 1 T T T II r T

Y=1204 (dx=1.9e-01, do=2. 3e-01) Y=1445 (dx=4.0e-01, do=2.9e-01) Y=1686 (dx=4.0e-02, do=2.1e-01) Y=1927 (dx=-1.1e-01, do=7.8e-01)

— T 9 117 [0 T
— (JSAmz 38, 0=1.39) 11 ?fﬁ'é'} 19, 0=1.61) 1= ?ISAws 42, 0=1.30) 1 J-I- l_ I.
o calExp o calex . alixp _ B
(x=182.57, 0=1.62) (x= 16459, 0=1. 90) (x=186.46, 0=1.51)

m—Residual*5 | == Residual*5 e Residual*5 — PFSATM

- Trace - Trace - Trace (e=188.404o=1325) = 'IJ-L -ﬂ -L

I | P (cflffgrsg, 0=2.04) {

-l_ m—Residual*s .IJJ- 'L

Y=2168 (dx=5.0e-02, do=5.6e-01) Y=2409 (dx=2.3e+00, do=3.0e-01) {22650 (dx=-4.4e-01, do=5.4e-01) Y=2891 (dx=-3.4e-01, do=2.6e-01)

pfsArm T T pfsArm pfsArm T u T pfsArm
= (x=189.20, 0=1.26) 1 { = (x=187.76, 0=1.57) = (x=190.48, 0=1.50)

calExp - calExp — calExp
= (x=189.25, 0=1.82) = (x=190.10, 0=1.88) = (x=190.04, 0=2.04)

= Residual*5

= Trace = Trace = == Trace

_ L

= Residual*5 == Residual*5

g t—

_“'I:

4 k== -rrH-Ft-11-

= (x=190.97, 0=1.38)
calExp
_| = (x=190.62, 0=1.64)
= Residual*5 -I.'J-
- Trace -‘J'

Y=3132 (dx=3.0e-01, do=3.8e-01) Y=3373 (dx=-4.8e-01, do=4.0e-01) Y=3614 (dx=-7. 0c. 01, do=5.4e-01) Y=3855 (dx=3.3e-02, do=6.6e-01)

I
w

L

pfsArm T u = T pfsArm pfsArm
= (x=190.94, 0=1.36) 1 1 - = (x=189.50, 0=1.41) = (x=188.21, 0=1.32)
— calExp 1 calExp T calEx|
(x=191.24, 0=1.74) = (x=188.80, 0=1.95) - (x= 188 24, 0=1.98)
7| == Residual*s - e Residual*5 s Residual*s
- Trace L - Trace L - Trace
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Y=240 (dx=-3.2e-02, do=5.2e-02)

f=632, X=172.2

Y=481 (dx=-4.1e-01, do=-7.9e-01)

T pfsArm pfsArm T
1 = (x=157.44, 0=1.15) = (x=161.72, 0=1.93) 1
1 calExp calExp 1
= (x=157.41, 0=120) = (x=161.32, 0=1.15)
m—_Residual*5 s Residual*s 1
- w | Trace I

Y=722 (dx=2.3e+00, do=-6.6e-01)

Y=1204 (dx=2.2e-02, do=3.1e-02)

Y=1445 (dx=2.5e-02, do=1.3e-02)

U

pfsArm
= (x=162.33, 0=1.86)

calExp
= (x=164.63, 0=1.20)

w—— Residual*s

Y=1686 (dx=-2.6e-02, do=>5.4e-02)

= (x=170.06, 0=1.18)
e Residual*5
== Trace

I pfsArm I pfsArm
1 = (x=170.03, 0=1.15) 1 = (x=172.15, 0=1.15)
1 calExp calExp

= (x=172.18, 0=1.17)
= Residual*5
= Trace

pfsArm
| ™ (x=173.85,0=126)

calExp
— (x=173.82, 0=1.32)
= Residual*5

= Trace

= (x=177.51, 0=1.32)
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o
T |I T T 1 T
Y=2168 (dx=-2.3e-02, do=-5.8e-01) Y=2409 (dx=-3.3e-02, do=7.0e-02)
T T
1= F:S:l';% 62, 0=1.89) 1 L 1 — r;iAlr;‘;.SA, 0=125)
— calxp 1 1 calExp
(x=176.60, 0=1.31) I

= Residual*5
w— Trace

I
I
I
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= Residual*5
w— Trace

1
Y=2650 (dx=2.7e-02, do=1.2e-01)

Y=3132 (dx=-3.9e-02, do=8.7e-02)

Y=3373 (dx=-7.4e-02, do=7.2e-02)

I pfsArm

1 = (x=178.22, 0=1.19)

1 calExp
—(x=178.24, 0=1.31)

= Residual*5

(x=178.39, 0=1.31)
e Residual*5

pfsArm pfsArm
1 = (x=178.43, 0=122) 1 = (x=177.85, 0=1.30)
| calExp | calExp

= (x=177.78, 0=1.38)
e Residual*5

Y=3614 (dx=1.3e-02, do=1.0e-01)

pfsArm
1 = (x=177.07, 0=120)
| calExp
= (x=177.08, 0=1.30)

me Residual*5
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T

pfsArm
1 = (x=167.52, 0=1.16)
1 calExp

(x=167.51, 0=1.18)
e Residual*5
== Trace

Y=1927 (dx=-2.0e-01, do=-6.2e-01)

pfsArm
= (x=175.64, 0=1.90)

calExp
= (x=175.44, 0=1.28)
=] mm—Residual*5

= Trace
|
|
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T
T T I T
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T
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I = 6, 0130

- e Residual*5

Y=3855 (dx=-1.0e-01, do=1.5e-01)

pfsArm
1 = (x=175.57, 0=1.25)
| calExp
= (x=175.46, 0=1.40)

e Residual*5
= Trace
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f=634, X=159.7

Y=240 (dx=-5.6e-01, do=4.5e-01) Y=481 (dx=2.8e+00, do=1.3e+00) Y=722 (dx=-4.1e-01, do=-5.5e-01) Y=963 (dx=-1.6e-01, do=3.3e-01)

pfsArm . T pfsArm pfsArm T pfsArm
= (x=14471, 0=1.45) = (x=145.47, 0=0.50) = (x=152.68, 0=1.91) 1 == (x=155.28, 0=1.43)
calExp calExp calExp 1 calExp
™ (x= 10, 14, 0=1.90) _—(x= 1ds. 31, 0=1.79) _(x= 152, 27, 0=1.36) _(x= 155, 12, 0=1.76)
= Residual*5 s Residual*s m— Residual*s 1 s Residual*s
== Trace . = Trace =] == Trace l - = Trace
I J
1
- I 1} I - _ —tt=f-——- 4 -
T 1 T 1 T T 1 T T I
02, do=4.1e-01) Y=1445 (dx—-4 6e- Ol do=3.1e- 01) Y=1686 (dx=-1.8e-01, do=3.8e- 01) Y=1927 (dx=nan, do=nan)
pfsArm pfsArm pfsArm
= (x=157.60, 0=1.37) = (x=159.60, 0=1.49) = (x=161.58, 0=1.47)
calExp T calExp calExp
— (x=157.53, 0=1.78) —(x=159.13, 0=1.80) 1 m—(x=161.41, 0=1.85) - —_—————
e Residual*s e Residual*s m—Residual*5 — PFSATM
(x=nan, o=nan)

- Trace = Trace - Trace

AN e L =

Y=2168 (d|x=3.7e+00|, do=1.9e+00) Y=2409 (dx=-3.3e- 01 do=4.3e- 02) Y=2650 (dx=-4. Oe- 01, do=4. 9e-01) Y=2891 (dx—-1 7e-01, do=4.9e- 01)

pfsArm

! L J T
1 = (x=165:15, 0=131) 1
calExp
: — = (x=164.82, 0=1.35) |
- pfsArm pfsArm
1 = (x=161.00, 0=0.00) : ?es‘d“al*s = (x=165.55, 0=1.51) T _H: mE (x 166 25, 0=1.46)
' Trace l
calExp . calExp calExp
1 —(x=164.74, 0=1.93) _ t o - (x= 165 15, 0=2.00) 1 = (x=166.08, 0=1.95)
I e Residual*s mem Residual*5 I == Residual*s
1 - Trace J' = Trace 1 - Trace
1 8 Iy Wy B S HE | Y
T 1 T T T T T T T T T T T -l T 1 T
Y=3132 (dx=-2.4e-01, do=4.1e-01) Y=3373 (dx=-9.5e-01, do=2.0e-02) Y=3614 (dx=-6.1e-01, do=1.5e-02) Y=3855 (dx=8.0e-02,
T T T
pfsArm pfsArm pfsArm pfsArm
1 = (x=165.65, 0=1.59) = (x=166.03, 0=1.99) 1 — (x=164.60, 0=1.94) = (x=163.14, 0=1.31) 1
| calEx| - calEx| | T calEx| calExp |
- (x= 165 41, 0=2.00) _(x= 165 08, 0=2.01) -(x= 163 99, 0=1.96) = (x=163.22, 0=1.72)
e Residual*s = Residual*5 I = Residual*5 =] === Residual*5
= Trace - Trace 1 - Trace - Trace
i | B
1
- - - =1==-1"1"-rr o ——— -— — e - - -
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Y=240 (dx=-5.9e-01, do=6.5e-01)

Y=481 (dx=1.9e+00, do=5.7e-02)

f=635, X=153.6

= (x=138.66, 0=1.29)

= (x=138.07, 0=1.94)
" Residual*s
== Trace

pfsArm

calExp

= (x=140.28, 0=1.82)

= (x=142.17, 0=1.87)

e Residual*s
= Trace

Y=722 (dx=-1.9e+00, do=-8.7e-01)

pfsArm

calExp

Y=1204 (dx=-2.2e+00, do=1.5e-01)

l

pfsArm
= (x=148.04, 0=2.20)
calExp
= (x=146.17, 0=1.33)
= Residual*5
= Trace

Y=963 (dx=-2.2e-01, do=2.9e-01)

1445 (dx=-6.3e-01, do=7.0e-01) Y=16

pfsArm

i Trace

= (x=152.89, 0=1.73)

calExp
= (x=150.72, 0=1.88)
= Residual*5

=7

== (x=153.58, 0=1.35)

= (x=152.94, 0=2.05)

calExp
" m Residual*s 7

0

=

= Trace

pfsArm
= (x=148.76, 0=1.39)

calExp
= (x=148.54, 0=1.68)
e Residual*s
== Trace

Y=19'27 (dx=na'n, da=nan)I

pfsArm

[Ua:

pfsArm
== (x=155.44, 0=1.31)

calExp
= (x=155.02, 0=2.09)
= Residual*5
w— | Trace

-
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pfsArm

=== (x=nan, o=nan)
calExp

= (x=156.02, 0=1.85)

e Residual*5

= Trace

= (x=156.85, 0=1.99)

- (x=157.94, 0=1.97)

e Residual*5
= Trace

pfsArm

calEx|

pfsArm 1 pfsArm
= (x=159.07, 0=1.26)

Y=3132 (dx=-5.5e-01, do=5.0e-01)

= (x=159.61, 0=1.32)
calExp calExp.

= (x=158.84, 0=1.31)

= Residual*5

= Trace

m—(x=158.99, 0=1.85)
== Residual*5
- Trace

I

Y=2891 (dx=-8.2e-01, do=4.3e-01)

=

calExp

—| == Trace

pfsArm
= (x=159.68, 0=1.42)

m—(x=159.13, 0=1.93)
e Residual*5

= (x=160.64, 0=2.51)

]
= (x=158.60, 0=1.83)
m— Residual*s

= Trace

3373 (dx=-2.0e+00, do=-6.9e-01) Y=3614 (dx=-2.4e-01, do=-8.3e-01)

pfsArm
= (x=159.69, 0=1.50)

calExp
= (x=158.87, 0=1.93)
= Residual*s

= Trace

pfsArm

calEx -

pfsArm
= (x=158.30, 0=2.98)

calExp
= (x=158.06, 0=2.15)
m— Residual*5
= Trace

(s
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e Residual*5
= Trace
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Y=240 (dx=-3.1e-01, do=7.2e-01)

f=636, X=147.3

Y=481 (dx=-8.4e-02, do=5.8e-01)

pfsArm
- (x=13242, 0=123)

calExp
- (x=132.11, 0=1.95)

T "= Residuars
== Trace

pfsArm
= (x=136.35, 0=1.19)

calExp
_(x= 136 26, 0=177)
m—Residual*s

== Trace

[

Y=1204 (dx=4.9e-01, do=-8.9e-01)

Y=1445 (dx 2.0e-01, do=6.4e-01)

pfsArm
— (x=144.73, 0=2.99)

— calExp
= (x=145.23, 0=2.09)

= Residual*5
| Trace

_11____ - 1-

- pfsArm

= (x=147.33,0=122)
calExj

- (= 147 53, 0=1.86)

e Residual*5

= Trace

_4_--;U-_-

Y=2168 (dx=-2.5e-01, do=6.0e-01)

Y=2409 (dx=-1.7e-01, do=-5.9e-02)

pfsArm
= (x=151.65, 0=1.45)

calEx
' ™™ (x=151.40, 0=2.04)

Ll = Residual*5
== Trace

[ usu
1

I_.Llﬂ___

I pfsArm
| ™ (x=152.58,0=1.45)

calExp
m—(x=152.41, 0=1.39)
= Residual*5

w— | Trace

pfsArm
= (x=153.47, 0=1.38)

calExp
- (x= 152 83, 0=2.04)
" Residual*s

== Trace

T x= 152950 2.01)

pfsArm
= (x=152.11, 0=2.05)

calEx

= Residual*5
| Trace
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Y=722 (dx=2.4e+00, do=-2.7e-01)

-1 T pfsArm
1 = (x=137.16, 0=178)
1 calExp
= (x=139.59, 0=1.51)
3 I — Residual*s
a l = Trace
|
|
1
- -——= -
1

Y=1686 (dx=6.0e-01, do=4.6e-01)

pfsArm I L L
= (x=149.17, 0=122)

calExp
= (x=149.77, 0=1.68)

|
I
= Residual*5
7| == Trace

Y=2650 (dx=-5.1e-01, do=5.0e-01)

|
1
1
T
1
e
T
1
W

e

e (x 153 35, 0=1.32)

gl

xp
_ —(x=152,84, 0=1.83)
= Residual*s

= Trace

A

| M |

Y=3614 (dx=1. 1e+00 do=-1.9e- 01)

Y=963 (dx=-5.3e-01, do=4.4e-01)

pfsArm
= (x=142.57, 0=1.31)

calExp
= (x=142.04, 0=1.75)
e Residual*5
== Trace

B
927 (dx=2.6e+00, do=1.4e+00)

pfsArm
= (x=147.46, 0=0.50)
calExp
= (x=150.08, 0=1.94)
= Residual*5
= Trace
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— (x=153.46, 0=1.47)
calExp,

_(x= 153 30, 0=2.03)

7| == Residual*s

= Trace

L.-FLJ Lk
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pfsArm I pfsArm
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Y=240 (dx=-2.2e-01, do=6.8e-01)

f=637, X=141.0

Y=481 (dx=-2.3e-01, do=5.5e-01)

pfsArm
= (x=126.13, 0=1.20)

T J L
calExp

= (x=125.91, 0=1.88)

e Residual*s

w— | Trace

|

15

pfsArm
= (x=130.08, 0=1.20)

calExp
= (x=129.85, 0=1.75)
e Residual*s
== Trace

tF]]:’ ] r _
Y=1204 (dx=2.2e+00, do=4.5e-01) Y=1445 (dx=-3.9e-01, do=7.7e-01)

T

|

1

| pfsArm

1 = (x=135.74, 0=1.52)
|

|

1

calExp
m—(x=137.96, 0=1.97)
e Residual*5

= Trace
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pfsArm

L

= (x=141.07, 0=124)
calExp

= (x=140.68, 0=2.01)

= Residual*5
= Trace

Y=2168 (dx=-2.7e-01, do=3.5e-01)

Y=2409 (dx=-9.1

-02, do= 3.5e- 02)

pfsArm
= (x=145.41, 0=1.44)

calExp
= (x=145.14, 0=179)
e Residual*5

w Trace
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pfsArm
= (x=146.40, 0=1.37)

calExp
m—(x=146.31, 0=1.41)
e Residual*5

w= | Trace
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Y=3132 (dx=-3.5e-01, do=6.6e-01)

Y=3373 (dx=-9.9e-01, do=8.0e-01)

pfsArm
= (x=14724,0=133)
calExp
- (x= 14688 0=1.99)
= Residual*5
™% == Trace
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= (x=146.79, 0=1.18)

calEx
- (x= 145 80, 0=1.98)
e Residual*5
= Trace
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pfsArm
1 m—(x=133.40, 0=1.24)
| calExp
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m— Residual*s

pfsArm

e Residual*5
- == Trace
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- (x=14227,

|—IJ i

0=1.16)
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pfsArm
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calExp
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7| == Residual*5
- Trace
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calEx
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